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The Valuation of Noracom Corporation

You are the financial vice president of Ominex, Inc., a publicly traded company.  Ominex Inc. is considering the purchase of a supplier, Noracom Corporation, which is a privately held.  The acquisition would be a cash-for-stock transaction.  It is expected that Noracom will have $700 million of long-term debt on 1/1/2004.  It is late in 2003 and you expect the acquisition of Noracom to occur at the beginning of 2004.  The CEO of Ominex has asked you to have your team estimate the intrinsic value of the Noracom’s equity as of 1/1/2004.    

To perform the Noracom valuation, you will proceed as follows: 

(i) Make a detailed forecast for years 2004 and 2005 and then value (as of the beginning of 2004) the free cash flows for years 2004 and 2005; 

(ii) (Use a simple forecast of free cash flows after 2005 to compute the beginning of year 2006 Noracom continuing value; and then discount that continuing value back to now (beginning of 2004); 

(iii) Add the result from (i) to the result from (ii) to compute the estimated Noracom firm value.

(iv) Deduct from the firm value estimated in step (iii) the value of all financing other than equity (common stock) finance.  The result is the estimate of equity value.

Exhibit 1 shows the forecasted Statement of Cash Flows for Noracom for 2004 and 2005 (where, for discounting purposes, assume that 2004 cash flows occur at the end of 2004, etc.).  You forecast that, in 2006, Noracom will have a FCF of $200 million, and that the FCF will thereafter grow at a 4 percent rate per year forever (e.g., FCF in 2007 = (1.04) ( (FCF in 2006) = (1.04) ( ($200) = $208 million, etc.).  

Assume a Noracom target capital structure (on a market value basis) of 30 percent debt and 70 percent equity.  It is estimated that, with this capital structure, the equity cost of capital will be 14 percent and the debt cost of capital will be 8 percent.  The firm’s tax rate is 33 1/3 percent.  

(a)
What is the firm’s after-tax weighted average cost of capital?

(b)
What is the estimated 1/1/2004 value of Noracom’s equity?  Employ the valuation approach that involves discounted free cash flow (FCF).  Use your result from (a) in the analysis.

(c)
Are there any good equity valuation approaches that do not involve discounted FCF?

Exhibit 1. Noracom Consolidated Statement of Cash Flows (all figures in $ millions)

	Year ended December 31,


	2004
	 
	2005

	Cash flows – operating activities:
Net earnings

Adjustments to reconcile net earnings to net cash provided by operating activities:

                Depreciation and amortization                          

                Deferred federal income taxes

                (Increase) decrease in accounts receivable

                (Increase) decrease in inventories

                Increase (decrease) in accounts payable
	$700

200

 100

 10

 (40)

90   
	
	$840

260

140

(40)

50

(80)

	           Net cash provided by operating activities:
	1,060
	
	1,170

	Cash flows – investing activities
        Capital expenditures

        Proceeds from dispositions of property

        New other investments

        Proceeds from sales of investments
	(600)

150

(60)

10
	
	(1,500)

200

      -

80

	           Net cash provided by investing activities:
	(500)
	
	(1,220)

	Cash flows – financing activities:
        Payments of dividends on common stock

        Retirement of long-term debt obligations

        New long-term debt obligations

        Payment of dividends on preferred stock

        Purchases of common stock

        Issuance of common stock
	(70)

(60)

200

(20)

(150)

                             -
	
	(75)

   -

     250

(20)

     -   

    -

	           Net cash provided by financing activities:
	(100)
	
	155

	Effect of exchange rate changes on cash

Increase (decrease) in cash and 

short-term investments
	(15)

$445
	
	10

$115


  Supplementary Information Not in Statement of Cash Flows: Forecasted interest payments (in    

  $million) in 2004 = $90, and Interest Payments in 2005 = $115.  Tax savings from deducting debt 

  interest are forecasted to be $30 in 2004 and $38 in 2005.

Solution
(a)
In the solution, we will refer to some of the equations in the required reading “Techniques for Business Valuation” (TBV).  To compute the after-tax WACC, we use TBV equation (12) (we assume in this example only equity and debt financing, so the value of other financing, 
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(b)
Defining the date of the valuation as time 0, from TBV equation (11) firm value equals:
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Using the analysis in TBV equations (13) – (17), we can restate [2] above as: 
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Furthermore, using TBV equation (18), we know that equity value 
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To compute FCF we use TBV equation (5b), which states:

                  FCF  = ( 
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Exhibit 2 below follows from equation [5] and the data in Exhibit 1.

Exhibit 2. Quantities as Shown on Statements of Cash Flows, 2004 and 2005 (in $million)

	Year
	NCPFA
	Debt interest payments
	Corporate interest tax savings 
	Free Cash Flow
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	2004
	      ($100)
	            $90
	            $30
	$160

	2005
	       $155
	           $115
	            $38
	             ($78)


From Exhibit 2, FCF for 2004 and 2005 are $160 million and ( $78 million, respectively.   FCF in 2006 is forecasted to be $200 million and then grow at the rate of 4 percent per year thereafter.  In the valuation terms, now use the subscript 1/1/2004 to refer to valuation as of 1/1/2004.  Therefore, the 1/1/2004 value of the firm (in $million), 
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, is (see the explanatory note below for the basis of equation [6] below):
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 EMBED Equation.3  [image: image24.wmf](

)

2

114

.

1

78

$

 

-
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 EMBED Equation.3  [image: image26.wmf] 

.04

.114

$200

ú

û

ù

ê

ë

é

-


                              =  $143.63 ( $62.85 + $2,177.85 =  $2,258.63 (in $million)                         [6]

The 1/1/2006 firm continuing value that is forecasted on 1/1/2004 is the last bracketed expression in the second line ($200/.074).

Explanatory Note:  The value at time t 
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 of a perpetual income stream that begins at $1 one period later (at t + 1) and grows at rate g thereafter (that is, amount 
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 is received at time t + 3, and so forth) is:
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where k and g are the discount rate and forecasted post-2006 FCF growth rate.  Using the above equation, the estimated continuing value on 1/1/2006 (Continuing 
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) of the FCF stream that is $200 in year 2006 (assumed to occur at the end of 2006 for discounting purposes) and growing at 4 percent per year thereafter is: 
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To discount beginning of 2006 amount
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 back to 1/1/2004, we must divide 
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As noted earlier, forecasted 1/1/2004 Noracom long-term debt equals $700 million.  Using the $700 million debt estimate, the result in equation [6], and equation [4], the estimated 1/1/2004 Noracom equity value equals (amounts in $): 

          
[image: image38.wmf]2004

/

1

/

1

E

 = 
[image: image39.wmf]2004

/

1

/

1

V

 ( 
[image: image40.wmf]2004

/

1

/

1

D

  =  $2,258,630,000 ( $700,000,000 =  $1,528,630,000  [7]


(c)

Yes.  There are three correct alternatives for valuing a firm’s equity that do not use discounted FCF in the analysis.  One is the discounted equity cash flow (ECF) approach (TBV equation (7)); the second is the discounted dividend approach (TBV Appendix B); and the third is the indirect valuation method using discounted total cash flow (TCF) to compute  firm value 
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 in TBV equation (18).    
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